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. An uncrowded toll road is because it 1s

A. a public good; both nonrival and nonexcludable
B. not a public good; nonrival but excludable

C. not a public good; nonexcludable but rival
D

not a public good; both rival and excludable
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2. In the above figure, the short-run aggregate supply curve i1s SAS1. If the
money wage rate increases, there is

A. an upward movement along SAS].
B. adownward movement along SASI.
C. ashift to SASO.

D. ashift to SAS2

3. In an economy, 23 million people are employed and 2 million are
unemployed, but 5 million part-time workers would prefer full-time work.
What is the unemployment rate?

A. 23.2 percent
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B. 6.7 percent
C. & percent

D. 25 percent

Bob

Confess Don't Confess

B: 10 years B: 20 years
Confess

J: 10 years J: 1 year
Joe
. . |
B: 1 year B: 2 years
Don't Confess
J: 20 years J: 2 years
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4. The table above displays the possible outcomes for Bob and Joe, who have

been arrested for armed robbery and car theft. Which of the following i1s
true?

A. It Bob confesses, Joe should confess.

B. If Joe confesses, Bob should not confess.
C. The dominant equilibrium i1s that Joe and Bob both serve 2 years.
D. If Joe does not confess, Bob should not confess.

5. If real GDP per person 1s growing at 4 percent per year, approximately how
many years will it take to double?

A. 25
B. 20
C. 15

D. 17.5
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6. In the figure above, the shift in the demand curve for U.S. dollars from DO
to D2 could occur when
A. the expected future exchange rate increases.
B. the U.S. interest rate falls.
C. people expect that the dollar will appreciate.

D. foreign interest rates fall.

7. IfV=5P=33,and Y = 50, then according to the quantity theory of money,
the quantity of money equals

A. $30

B. $10.

C. §$150.

D. $300

E. none of the above
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8. The increase in the demand for widgets, shown in the figure above, i1s the
result of a decrease in the price of McBoover devices from $11 to $9.
Theretore, the cross-price elasticity for these two products is

A. -2.0.
B. -0.5.
C. 0.5.
D. 2.0

— - LEME (305 B85 %)
. 4 &M71& (predatory pricing)
8 724845 (natural monopoly )

A #4209 (output gap)

2
3
4. &g B 4% (economies of scope )
5. 1812 A2 (moral hazard )

6

B M % ¥ (frictional unemployment )
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